Rogue2 Tipping Lever

Ki, Mobility
2

(®
®

Standard with Spacers

08-06-2025

®

M

-

Amputee

Amputee with Spacers



Not available if right and left User Activated Anti Tips are present

Item Number Part Number  Description Quantity
_ _ Tipping Lever Standard Camber Mount Kit

1-4a,5-9 119636 RogueZ 1
Used with 24"-26" wheels

1-4b,5-9 120813 Eigglijrég Lever Standard Camber Mount Short Kit 1
Used with 20" or 22" wheels

1, 2, 4a, 5-9, Tipping Lever Amputee Camber Mount Kit

11 119635 Rogue? 1
Used with 24"-26" wheels

1, 2, 4b, 5-9, 120812 Tipping Lever Amputee Camber Mount Short Kit 1

11 Rogue2 / Rogue XP
Used with 20" or 22" wheels

1 114014 Rear Tower Square Nut 2

2 102810 M6 Lockwasher, Hi-Collar, ZC 2

3 119608 Rogue?2 Tipping Lever Adapter Plate (Standard) 1

4a, 8 121382 Tipping Lever Tube Rogue2 1
Used with 24"-26" wheels

4b, 8 121383 Tipping Lever Tube Short Rogue2 / Rogue XP 1
Used with 20" or 22" wheels

5 100681 M6 x 40 CLS8.8 DIN931 HHCS zC 2

6 100658 M6 Nylock Nut Blk Zn 2

7 000054 Saddle 7/8" 2

9 101472 M6 x 45 SHCS BLK zC 2

10 119613 Spacer, %" OD, 9/16” Long, 2.57” ID, Black 2

11 119607 Rogue?2 / Rogue XP Tipping Lever Adapter Plate 1

(Amputee)

08-06-2025




